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1. 3x+2y+10z=10 16. X’ +y*+9z* =9
2. 3x+2y=6 17. 2=4/9-x* —y*
3. X—y+z=2 18, 22:4x2+‘y2

3, - y =45 %"

5. 4=x"—y*-472=0 20, z= 4" 445

2 2 2.
6. 9-x"+y"+9z°=0 o, /x2+4y2
7. Z:—\J4—x2—y2 22, 3 =4y* 492

8. ‘22:4(x2+y2) 23. Y +4x*-922-36=0
24 x*+y* +4z=0

19. z=x> —43?

9. 9x*+y* +2z*=9

10. 2° 499" + 477 =36 5. x* +4y* +2z7 =4
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11. _)/ —9.X —4L —-36 2%, 7= '4_x2_4y2
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12. X’ +3y* -9z =9
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13. ¥V =% ¥z

28. ~x> —4y* +9z2 =36
M4, X =347t =4

29. x=4]2—-y -2z
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- y—\[36 b 30. x> +4y* +2° =4
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1. ¥ +)y2=9 4. 4x*+9y* =36
2. 4x*+22=16 5. y'=x"-9
3. Y H+zi=l 6. ' =4x
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1. x2+y2+z -4z=0 5. y=l-%x"—g
2 ,\'Z-i-}'L%-ZL—z_l':O 6. y:]—\[x2+22
3. X' =4z+8 7. y=3-x*-7
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4, a.—l—‘\‘.\ s 8. x—]+y +Z
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0. z=4-x"~)" 11, z:m—l
10. x=9-2z° 12. z=1-x"—4y*
13. 36x% +16y” +362° —64y —72z+28=0

14, —9x% +9y* —4z" +18x—18y -8z +32=0

15. x>+ —4x—-6y—-z+12=0
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